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Winter Subtraction

Solve the following word problems.

John bought a winter jacket for $78.75. How much
money is left if he had $100 to start with?

A store was selling winter boots for $90.50. During
a winter sale, the price dropped by $45.25. What is
the new price of the boots?

Emma had 12.5 gallons of anti-freeze. She used
3.75 gallons to winterize her car. How many gallons
of anti-freeze does she have left?

The first ski slope was 14.88 miles long, and the
second slope measured 9.37 miles. What was the
difference in length between the two slopes?

A ski resort charges $80.50 for a day pass. If you
have a discount coupon of $25.25, how much will
you have to pay?

A family used 75.50 pounds of firewood on
Saturday and 55.25 pounds on Sunday. How much
less firewood did they use on Sunday?

A snowplow cleared 18.75 miles of road in the
morning and 15.50 miles in the afternoon. How
many fewer miles did it clear in the afternoon?

A store sold 65.50 pounds of salt on Monday and
42.75 pounds on Tuesday. How much less salt did
. the store sell on Tuesday?
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